26.7.1 BiE By amEEAnR ST RN

A0 Fij H LA BB/ BN AR TN E)
HEEEL || R 5 o R A D || | AR | BT | B | EsA [ #sH | AEF ] (H) | (&)
oy 44, 048|108, 743| 53,470] 55, 273 26| 18 4 79 75| 22 428|450 0 159 159
H—TH 647| 1,474 719 755 1 -1 0 0 0 0 1 1 -1 1 2
FIL—TH 4870 1,290 642 648 1 4 -1 0 1 2 4 2 3 4 1
A =TH 4320 1,013 490 523 3 1 -2 0 2 5 8 3 -2 1 3
AAE 1,566 3,777| 1,851 1,926 5 4 -3 0 3 7 13 6 0 6 6
georn— 1 H 464/ 1,080 501 579 -1 -1 -2 0 2 -1 4 5 2 4 2
w1 H 7411 1,933 941 992 -3 -6 -3 1 4 -7 0 7 4 6 2
o —TH 458 1,148 560 588 1 7 0 0 0 2 3 1 5 5 0
S u T H 397 999 501 498 0 —4 -2 0 2 -2 0 2 0 0 0
w1 H 5401 1,315 643 672 2 3 -1 1 2 3 7 4 1 1 0
s R8T H 213 495 238 257 1 2 0 0 0 1 1 0 1 1 0
g Rt H 648[ 1,669 834 835 1 -1 -1 0 1 1 5 4 -1 0 1
s\ T H 386 856 417 439 -2 =7 -2 0 2 -2 0 2 -3 0 3
R T H 572l 1,451 754 697 0 -6 1 1 0 -5 3 8 -2 0 2
2 SN 4,419 10,946| 5,389| 5,557 -1 =13] =10 3 13 -10 23 33 7 17 10
Hekrn—1 8 332 843 421 422 0 1 0 1 1 0 2 2 1 1 0
Wik R _ T H 913 2,155| 1,073 1,082 -1 -3 3 3 0 -5 4 9 -1 0 1
Hekrn=TH 661 1,601 796 805 -3 -15 1 1 0 -9 3 12 -7 1 8
Wk 7 B aEh 1,906 4,599 2 290| 2, 309 4| =17 4 5 1 -14 9 23 -7 2 9
sk B 1 H 5271 1,272 628 644 -2 —4 0 0 0 -4 0 4 0 0 0
Mk A1 H 324 796 426 370 1 1 1 1 0 0 1 1 0 0 0
Mk R =T H 238 555 288 267 -1 -2 0 0 0 -2 1 3 0 0 0
sk AT H 512/ 1,259 643 616 3 7 2 2 0 4 6 2 1 1 0
£ e 1,601] 3,882 1,985| 1,897 1 2 3 3 0 -2 8 10 1 1 0
SCLagUl 336 995 451 544 -1 -3 -1 0 1 -1 2 3 -1 0 1
HEE—TH 153 394 193 201 -1 0 2 2 0 0 0 0 -2 0 2
oA T H 414 977 482 495 3 14 -1 1 2 11 15 4 4 7 3
HERII =T H 647[ 1,691 832 859 -2 -7 0 0 0 0 3 3 -7 0 7
HOEERIPO T H 665 1,756 869 887 1 1 2 2 0 -2 1 3 1 3 2
HOERO AT H 389 933 468 465 0 -2 2 2 0 —4 1 5 0 0 0
HOEEISN T H 396/ 1,007 488 519 5| -14 -1 0 1 -2 0 ol -11 0 11
HEFIETH 615 1,494 729 765 2 2 -1 0 1 1 11 10 2 3 1
HOEB AR 3,279 8,252 4,061| 4,191 -2 -6 3 7 4 4 31 27 -13 13 26
[P0 1,483 3,232 1,527| 1,705 1 —4 0 1 1 -1 13 14 -3 1 4
B IA IR 313 734 369 365 -1 -2 -1 0 1 -1 1 2 0 0 0
EF e —TH 4511 1,042 502 540 3 5 0 0 0 2 2 0 3 3 0
SEE R T 216 479 245 234 0 -1 -1 1 2 1 1 0 -1 1 2
EE =T H 504 1,212 604 608 -1 2 1 2 1 1 2 1 0 1 1
BB LY T 5371 1,147 579 568 2 9 1 2 1 9 12 3 -1 0 1
EE T T 209 563 279 284 1 -1 -3 0 3 1 1 0 1 1 0
EESO RS | 1,917 4,443 2,209] 2,234 5 14 -2 5 7 14 18 4 2 6 4
EBP AR — T H 5891 1,320 620 700 0 3 2 3 1 0 6 6 1 1 0
EEARET T H 593 1,367 643 724 -1 -1 -2 0 2 -1 3 4 2 3 1
EERET S | 1,1820  2,687| 1,263| 1,424 -1 2 0 3 3 -1 9 10 3 4 1
R 283 904 475 429 1 1 1 1 0 3 3 0 -3 0 3
KPR TH 619 1,593 788 805 3 0 0 0 0 7 8 1 -7 1 8
HRHER_—TH 1,461 3,566 1,735| 1,831 -6  -23 -1 1 2 -5 17 22l =17 0 17
HHR=TH 8421 2,299| 1,158| 1,141 4 10 1 1 0 1 2 1 8 8 0
HHRMT H 459 1,133 545 588 1 2 0 0 0 0 2 2 2 2 0
N N 3,381 8,591| 4,226| 4,365 2| -11 0 2 2 3 29 26 —14 11 25
e R—TH 611 1,479 737 742 5 6 1 1 0 -1 1 6 6 0
IR _TH 800 2,084| 1,043 1,041 1 —4 -1 2 3 -7 0 4 8 4
HIR=TH 408 960 498 462 -1 -7 -2 0 2 -7 1 2 2 0
ERARE 1,819 4,523 2,278 2,245 5 -5 -2 3 5 -15 2 17 12 16 4
oY 309 843 406 437 0 0 -1 0 1 1 3 0 0 0
s 1,479 4,893| 2, 256| 2, 637 3 -2 -2 2 4 7 16 -7 2 9
MYE - T B 722 1,908 963 945 -1 —4 1 3 2 -1 4 -4 4




26.7.1 BiE By amEEAnR ST RN
A M Fij H LA BB/ BN AR TN E)
L | fEK 5 T HEER] AT PR AR | R | MEPR | BsA | dRH | SEF | () | ()
HE T H 683 1,882 942 940 -3 -6 -1 1 2 -3 8 11 -2 0 2
M E =1 H 576/ 1,477 729 748 1 2 3 3 0 -3 1 4 2 3 1
FAEM T H 879l 2,298| 1,120| 1,178 2 0 0 0 0 2 3 1 -2 4 6
MY E T H 556/ 1,353 668 685 -3 —4 0 1 1 —4 7 11 0 1 1
M ESN T H 418 1,078 527 551 1 5 2 3 1 -1 1 2 4 4 0
M EAE 3,834 9,996| 4,949 5,047 -3 -7 5 11 6l -10 24 34 -2 12 14
VEDIE 3 488[ 1,165 553 612 1 0 -1 0 1 4 7 3 -3 0 3
He—TH 299 632 313 319 3 4 0 0 0 1 4 3 3 0
Hige — T 553 1,339 663 676 —4 -6 -1 0 1 -2 5 -3 0 3
Bl 8521 1,971 976 995 -1 -2 -1 0 1 -1 9 10 0 3 3
Ei—TH 287 651 336 315 2 5 1 1 0 4 82 78 0 0 0
2 _TH 612] 1,304 655 649 -2 -2 2 2 0 -5 0 5 1 2 1
=18 353 967 487 480 -3 -5 0 0 0 -5 1 6 0 5 5
AR 1,252 2,922| 1,478 1,444 -3 -2 3 3 0 -6 83 89 1 7 6
HlE TR 4131 1,001 486 515 -2 -9 —4 0 4 -5 5 0 0 0
WHE T H 394 1,054 519 535 0 1 1 1 -1 3 0 -3 0 3
HE T H 714/ 1,845 910 935 11 28 2 2 0 10 16 6 16 16 0
HUIEMNTH 431) 1,057 511 546 2 10 0 1 1 3 4 1 7 7 0
WY E T H 731 1,738 857 881 4 -1 -5 0 5 3 10 7 1 4 3
HHIEANTH 217 481 240 241 0 -3 0 0 0 -5 0 5 2 2 0
R EGE 2,900 7,176| 3,523 3,653 15 26 -6 4 10 9 33 24 23 29 6
<HBEI—TH 6371 1,560 770 790 -2 -6 0 1 1 -1 5 6 -5 0 5
<HREI_TH 643 1,550 757 793 3 -1 0 0 0 -1 5 6 0 0 0
<HBEIL=TH 4971 1,187 606 581 -5 -8 0 1 1 -8 2 10 0 0 0
<HBEMTHA 498 1,116 556 560 3 1 -1 0 1 -2 4 6 4 5 1
<HBEINFETH 391 930 503 427 5 11 1 1 0 10 11 1 0 1 1
<HBE GG 2,666 6,343| 3,192| 3,151 4 -3 0 3 3 -2 27 29 -1 6 7
W EART—TH 759 1,699 830 869 -3 1 2 2 0 —4 3 7 3 3 0
MEARIT T H 402/ 1,077 543 534 1 3 1 1 0 2 7 5 0 0 0
)& AR G5 1,161 2,776| 1,373| 1,403 -2 4 3 3 0 -2 10 12 3 3 0
LE 445 885 439 446 -1 3 2 2 0 0 7 7 1 5 4
ok -1 8 760 1,347 622 725 0 1 5 5 0 0 9 9 —4 0 4
kR T H 350 562 270 292 0 1 0 0 0 0 4 4 1 1 0
kR =1 H 591 1,585 734 851 0 7 4 4 0 -1 1 2 4 5 1
kAT H 273 638 309 329 —4 -6 1 2 1 -3 2 5 —4 0 4
kT BAE 1,974/ 4,132| 1,935| 2,197 —4 3 10 11 1 —4 16 20 -3 6 9
FR IR 8T 22 58 31 27 0 0 0 0 0 0 0 0 0 0 0
Ergie 745 1,973 940 1,033 —4 -8 -2 0 2 -6 3 9 0 0 0
(LREA L 244 564 278 286 5 9 0 0 0 7 9 2 2 2 0
e — 1 H 342 942 492 450 3 10 5 5 0 0 1 1 5 5 0
e T H 273 703 345 358 0 -1 0 0 0 0 0 0 -1 0 1
e AR 615 1,645 837 808 3 9 5 5 0 0 1 1 4 5 1
P T B 615/ 1,387 704 683 1 =7 -1 0 1 -3 11 14 -3 1 4
VM T H 468 1,213 582 631 1 =2 0 2 2 -2 5 0 0 0
VEEEE M AR 1,083 2,600 1,286 1,314 2 -9 -1 2 3 -5 16 21 -3 1 4
9 e 260 621 313 308 1 0 -1 0 1 0 3 1 1 0
[ZTR/N 234 615 331 284 0 -1 -1 0 1 0 0 0 0
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